038/2024-K

1. On 21st January 2022, three states observed their 50t Statehood Day, which of the following

is NOT one amongst these three?

(A) Manipur (B) Meghalaya
(C) Nagaland (D) Tripura
2. Who was instrumental in founding the National Planning Committee (the forerunner of the

Planning Commission) in 1938, for drawing up a plan of economic development on the basis

of industrialization?
(A) Motilal Nehru
(B) Subash Chandra Bose
(C) B.G. Tilak
(D) Moulana Abdul Kalam Azad

3. In 1933, Mahatma Gandhi withdrew from all political activity and made a country-wide tour

covering a distance of 12,504 miles. This tour is known as :
(A) Jan Jagaran Yatra
(B) Dandi Yatra
(C) Samaj Samata Yatra

(D) Harijan Yatra (tour)

4.  Which of the following forts was not constructed during Akbar’s reign?
(A) Purana Quila (B) Agra Fort
(C) Lahore Fort (D) Allahabad Fort

5. Who led the anti-Colonial Tribal revolt of 1812 in the jungles of Wayanad?
(A) Raman Namby (B) Thalakkal Chandu
(C) Pazhassi Raja (D) Edachana Kunkan
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6. Which social reformer of Kerala was involved in Kallumala Samaram or Perinad revolt?

(A) Sree Narayana Guru
(B) Ayyankali

(C) Poikayil Appachan
(D) Chattampi Swamikal

7. In which year Kerala was declared a fully literate state?
A 1990 (B) 1992
(C) 1991 (D) 1989

8.  The war criminals of the Second World War were put to trial in :
(A) Pittsburgh (B) Peitersburg
(C) Gettysburg (D) Nuremberg

9. During the 18% Century who among the following philosophers said these famous words?

“Man is born free but everywhere in chains” :
(A) Jean Jacques Rousseau
(B) Voltaire
(C) Baron de Montesquieu
(D) Denis Diderot

10. Which of the following is not an official language of United Nations?
(A) Spanish (B) French
(C) Arabic (D) Portuguese

11. The National Waterway-3, originally extending from Kollam to Kottappuram was extended
to which place as per National Waterways Act 20167

(A) Thrissur (B) Kannur
(C) Kozhikode (D) Malappuram
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12. Which among the following is NOT a geothermal field in India?

1. Tatapani

2. Narora

3. Puga

4. Singrauli
(A) 1,2and 3

(B) 1and3

(C) 3and4 D) 2,3and 4

13. Which of the following pairs is INCORRECTLY matched?

Parent rock Metamorphosed rock

(A) Granite - Gneiss
(B) Sandstone - Schist
(C) Limestone - Marble
(D) Shale - Slate

14. What projection is used in the Survey Of India (SOI) Topographical maps?

(A) Lambert Conformal Conic
(B) Mercator

(C) Polyconic

(D) Azimuthal equidistant

15. Noto, which suffered a 7.5 scale Earthquake and a devastating tsunami on new year day of

2024 is in which Asian country?

(A)

©)

South Korea (B) Afghanistan

India (D) Japan
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16.

17.

18.

19.

20.

Find out the instruments of monetary policy in India :
(i) Marginal Standing Facility Rate
(11) Deficit financing
(i11) Statutory Liquidity Ratio
(1v) Taxation policies
(A) only (1) and (11) (B) only (1) and (ii1)
(C) only (1), (i1) and (ii1) (D) only (1), (i1) and (iv)

What does the Government do in a contractionary fiscal policy?
(A) Higher Government spending and lower taxes
(B) Higher Government spending and higher taxes
(C) Lower Government spending and higher taxes

(D) Lower Government spending and lower taxes

GDP at factor cost is equal to :
(A) GDP at market price — Net indirect taxes
(B) GDP at market price + Net indirect taxes
(C) GDP at market price — Depreciation

(D) GDP at market price + Depreciation

Which five-year plan did the Government introduce Insurance Regulatory Authority in

India?
(A) Seventh Five Year Plan (B) Ninth Five Year Plan
(C) Tenth Five Year Plan (D) Eleventh Five Year Plan

Which of the following Union Ministry launched e-Shram portal for creating a Centralized

database of all unorganized workers?
(A) Ministry of Finance
(B) Ministry of Skill Development and Entrepreneurship
(C) Ministry of Social Justice and Empowerment

(D) Ministry of Labour and Employment
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21.

22.

23.

24.

25.

Which of the following is not a function of civil service?
(A) Implementation of Government’s Policies
(B) Delegated Legislation
(C) Mobilize opposition to the Government

(D) Carrying out the social services

Which among the following is/are correct regarding the objectives of NeGP as articulated in
its Vision Statement?

(i) to bring public services closer home to citizens

(i1) ensure efficiency and transparency

(i11) services at free of costs
(A) only (1) (B) only (1) and (ii)
(C) only (1) and (ii1) (D) only (i1) and (ii1)

Which among the following is/are correct regarding the functions of Political parties?
(1) function of socialization and participation
(i1) function of integration
(i11) function of exercising political power
(A) only (1) and (11) (B) only (i)
(C) only (1) and (ii1) (D) all the above

Name the scheme introduced by the Central Government to incentivize creation of new

employment along with social security benefits and restoration of loss of employment during
COVID-19 pandemic :

(A) Pradhan Mantri Rojgar Protsahan Yojana (PMRPY)
(B) Aatmanirbhar Bharat Rojgar Yojana (ABRY)

(C) Production-Linked Incentive (PLI) Scheme

(D) Stand up India Scheme

Which state has recently announced a reduction in the age limit for old-age pensions from
60 to 50, with a specific focus on tribals and Dalits, in order to enhance financial support for
marginalized communities within the state?

(A) Jharkhand (B) Maharashtra
(C) Orissa (D) Chhattisgarh
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26.

217.

28.

29.

30.

Consider the following statements with regard to the Constituent Assembly :

(1) The idea of a constituent assembly was put forward for the first time by Jawaharlal
Nehru

(i1) Total strength of the assembly was 389
(i11) Mahatma Gandhi was a member of the Constituent Assembly
Which of the statements given above is/are correct?

(A) only (1) (B) only (i1)

(C) only (1) and (i1) (D) all the above

Article 26 provides Freedom to manage religious affairs which is subjected to which of the
following?

(1)  Public order
(11) Morality
(111) Health
(A) only (@) and (i1) (B) only (111)
(C) only @) and (i11) (D) all the above

Article/s which has provided provisions for the protection and improvement of the
environment and the safeguarding of forests and wildlife :

1 31A

(1) 48A

(i) 51A
(A) only (@) and (i1) (B) only (11) and (i11)
(C) only (111) (D) all the above

Consider the following statements with regard to the removal from the offices of
Speaker :

(1) Requires a majority of all the members of the House
(i1) Requires 2/3d majority of members present and voting
(111) Mandatory to give a minimum of 14 days’ notice of the intention to move the resolution
Which of the statements given above is/are correct?
(A) only (1) and (i1) (B) only (i1)
(C) only (1) and (iii) (D) only (11) and (ii1)

What is/are the major change/s made through 106t Constitutional Amendment?
(1) Amended article 239AA

(i1) Insertion of articles 330A, 332A

(111) Separate reservations for OBC women

(A) only (i) (B) only (ii)
(C) only @) and (i1) (D) all the above
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31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

Who won Wimbledon in 20237
(A) Novak Djokovic (B) Carlos Alcaraz
(C) Jennik Sinner (D) Daniil Medvedev

Which book won the first Vayalar Award?
(A) Randamoozham (B) Ummachu
(C) Agnisakshi (D) Eni Njan Urangatte

Who is the first Malayali to win an Oscar?
(A) Resul Pookutty (B) Satyajit Ray
(C) P.J. Antony (D) M.T. Vasudevan Nair

How many runs did Sachin Tendulkar score in one day international cricket?
(A) 19,463 (B) 15,921
(C) 14,368 (D) 18,426

Who is the screenplay writer of the film Kattukuthira?
(A) Thakazhi Sivasankara Pillai (B) P.C. Kuttikrishnan
(C) S.L. Puram Sadanandan (D) Ramu Kariat

Who wrote the preface to G. Sankara Kurup’s Odakkuzhal?
(A) S. Guptan Nair (B) Joseph Mundassery
(C) M. Leelavathi (D) Sukumar Azhikode

In which year did Kumaranasan passed away?
A) 1922 (B) 1924
(C) 1926 (D) 1928

Who is the director of the movie Kanchana Seetha?
(A) G. Aravindan (B) Adoor Gopalakrishnan
(C) P.Padmarajan (D) Bharathan

Who was the coach of Argentina football team for 2022 FIFA World Cup?
(A) Carlos Bilardo (B) Didier Deschamps
(C) Claudio Echeverri (D) Lionel Scaloni

Thunchan Parampu is located in which district in Kerala?
(A) Palakkad (B) Malappuram
(C) Kozhikode (D) Thrissur
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41.

42.

43.

44.

45.

46.

Match the following :

(1) Hub (a) Can handle different protocols

(1) Router (b) Amplifies the signal transmitted on network
(111) Repeater (c) Connects two dissimilar networks

(iv) Gateway (d) Connect several computers together

A)  ®-(d), W - (a), (i) - (b), @) - ()
B)  © - (@), @) - (d), (i) - (b), @) - ()
© @ - (), W - (a), (i) - (c), @) - (b)
D) @ - (d), @) - (0), (1) - (b), () - (a)

The supplemental memory system that temporarily stores frequently used instructions and
data for faster processing by a computer’s Central Processing Unit (CPU) :

(A) RAM (B) Hard Disk Drive
(C) Cache Memory (D) Flash Memory

An advanced phishing technique where attackers make a clone of a website and send the
malicious link to the victim and try to extract sensitive data such as card numbers, user
names, passwords etc., from victims :

(A) Ransomeware (B) Salami Attack
(C) Web Jacking (D) Virus

A software that can be freely accessed and modified is called :
(A) Proprietary software (B) Package software
(C) Middleware (D) Open source software

One of the most popular search engines, founded by Larry Page and Sergy Brin is :
(A) Yahoo (B) Google
(C) Bing (D) Safari

Which among the following is a Government health insurance scheme launched in the
year 2018?

(A) Rashtriya Swasthya Bima Yojana

(B) Ayushman Bharat Pradhan Mantri Jan Arogya Yojana
(C) Pradhan Mantri Swasthya Suraksha Yojana

(D) Pradhan Mantri Suraksha Bima Yojana
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47.

48.

49.

50.

Arrange the following renewable energy sources in the decreasing order of their contribution
to electricity generation in India :

1. Solar power

2. Wind power

3. Biomass

Select the correct answer
(A) Solar power < Biomass < Wind power
(B) Solar power > Biomass > Wind power
(C) Wind power < Solar power < Biomass

(D) Solar power > Wind power > Biomass

Which of the following is not a satellite of Indian origin?
(A) XPoSat (B) IXPE
(C) SROSS-C (D) HySIS

Consider the following statements on The Convention on Biological Diversity :

1. It is the key international treaty for the conservation and sustainable use of
biodiversity
2. It is primarily implemented through national level action

3. National Biodiversity Strategies and Action Plans (NBSAPs) are the principal
instruments for implementing the Convention at the national level

4. It requires countries to prepare a national biodiversity strategy and to mainstream this
strategy into the planning of the sectors whose activities can have an impact (positive
and negative) on biodiversity

Which of the statements given above are correct?
(A) 1,2 and4 only
(B) 1,3 and 4 only
(C) 2and 4 only
D) 1,2,3and 4

What is the distance of the Lagrange point 1(LL1) of the Sun-Earth system?
(A) 1.5 million km from the Earth
(B) 1.5 million km from the Sun
(C) 1.51lakh km from the Earth
(D) 1.51akh km from the Sun
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B 30OS SOTORVTITRG OFS TROTED, oUBEY Dby eveEsd wEs demrcd
B3 BT BB |

1. &3 33
2. TS B3
3. 203 B

RBOORE SVITIDY, ey SRR.
(A) T B3 < WeSoB < T3S B
(B) T 5§ > 003 > TS B
(C) T3S B8 < BT B3 < 3003
(D) T 5§ > TSTBY > 300D

FBOTYNFL) 30eYTH 27008e0D FRVT YVETEY?

(A) XPoSat (B) IXPE
(C) SROSS-C (D) HySIS

B8F B TeIwe3eBEY B FPOT TeYINTR) TWOTEIN
L oo 23 s30gts <o0ER s0B) WAT FENel) FTeane e03Tveyead 2.83083e0008.
+ &
2. SR SRFEDTERN Tosyrad 08l gabad EewE FADETBIAPTIRDST.
=7

3. Ocorod eIy TooETOTRR H3Y o deewdned (NBSAPs) codyead  séime)
=2 <
Te3T0e3eBeIY, FOODETBRRPTLY Te3V JOGDHFNES.

4. DEOW Coqroh SO TOFSOEIRY,  AGERREE WX S SFS0EER
ToEetdad  Seuhne  deessy  SoNmekhd  SPREE  ©nd  ehmedne
LSZOFID eSS (FOTE THI) LFOTT) TOBIT) LTI,

063 VRS BePIRT) 0PI [OIPAT?

Q) 1,288 4 S0
(B) 1,33 4 =0
C) 2 4 =0T
D) 1,2, 3= 4

TRODE -8 aséaﬁ'cgaja ©or3e0es® smeoot® 1(L1) & eoss @b@e}?
(A) 23000z 1.5 dodha® 8.8e.
B) TweodeQozs 1.5 &0Dadn® 8.8e.
(C) 3o 1.5 @3 3.8De.
(D) =eobedos 1.5 @g 3.80e.
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51.

52.

53.

54.

55.

56.

57.

Arjun went 25 km to the west from his house, then turned left and walked 15 km. He then
turned East and walked 40 km and finally turned left and covered 15 km. How far is he now
from his house?

(A) 20km (B) 15km
(C) 40km (D) 25km

Find the next item in the alpha-numeric series :

Z1A, X2D, V6G, T21J, R88M, P445P,

(A) N2676S (B) T2670N
(C) N2676T (D) T2676N

If the first day of the year (other than leap year) was Sunday, then which was the last day of

the year?
(A) Monday (B) Tuesday
(C) Sunday (D) Thursday

P is Q’s sister. R is Q’s mother. S is R’s father. T is S’s mother. Then how is P related to S?
(A) Grand mother
(B) Grand father
(C) Daughter
(D) Grand daughter

In an examination, 40 percentage of students failed in English and 53 percentage in
Mathematics. If 15 percentage failed in both subjects, what is the percentage of those who
passed in both subjects?

A 24 (B) 26
© 23 D) 22

If RED = 12, BLUE = 20, VIOLET = 42. What is the code for MAGENTA?
A N B) 13
(C) 56 (D) 101

What is the angle between the hour hand and minute hand of the clock at 6.40?
A) 40° B) 32°
(C) 26° (D) 45°
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VER® TP, VTOW0S 3Ze0F 25 8.8, Teesd. T0ST BE ST 15 $.80e. BBE. TOST

Tewrg 80N 40 3.80e. TAD ARV DBEE LD 15 .00 SAFDH. WIH H T, FSWOE
D) BROTBYRS?

(A) 20km B) 15km
(C) 40 km D) 25km
ese%—"m’oaé’éob "N“dcéoi)eg BT e’ @@Z TOTIT ¢

Z1A, X2D, V6G, T21J, R88M, P445P,
(A) N2676S (B) T2670N
(C) N2676T (D) T2676N

TRT BReBO O (VBT SRESD), BRTBITRY) memo’mﬁzgc‘)’, DR TR0 AT adesyt?

(A) e300 B) SorFeses
(C) rocHeses (D) %0

P, Q 930 s8e¢c30. R, Q & soc. S, R @30 20c3. T, S @938 oo, morewd P avs) S 3 =
T0ORATS?

A o
B)
(€) Sored

D) SBesyried

BOegode) Bezzo 40 Osx) TR RETIF0 JOOROTY) B Bese 53 OeR)  TBENT0 nedsTe)
eohecorooNced.  Beswo 15 O)  QclFnwd  o0RE® OT[WADATY o Secor ToNTIRT.
TS, SOER ERADNTEY GVEecsrTnTsess Berteneiotd ds)?

A 24 B) 26
<) 23 D) 22
Foz0 = 12, Qeed =20, JeoB = 42. SoBotzory Feew® o0?
A 71 B) 13
(C) 56 (D) 101
6.40 B n®03e0 r0E30 aba%g BB DENT m@@m; DRI BRS 0350e3)T0?

(A)  40° B) 32°
(C) 26° D) 45°
-21-



038/2024-K

58.

59.

60.

61.

62.
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A watch which is set correct at 5 am, gains 2 minutes in every 30 minutes. What is the actual

time when the watch shows 10.20 am on the same day?

(A) 10.40 am B) 9.45am
(C) 10.00 am (D) 10.10 am

The average of six consecutive even numbers is 25. What is the difference between the

largest and the smallest of these numbers?
A) 20 (B) 10
© 45 D) 15

40 friends at a marriage party shook hands with each other only once. Find the number of
shake hands :

A) 40 (B) 1760
(C) 80 (D) 1780

Two numbers are in the ratio 3:5. If each number is increased by 10, then their ratio

becomes 5 : 7. The numbers are :
@A) 3,5 B) 7,9
C) 13,22 (D) 15,25

A contractor employed 210 men to complete a construction work in 60 days. After 12 days, he

added 70 more men. In how many days will the remaining work be finished?
(A) 38 (B) 35
(C) 36 D) 40

A man sells two horses for Rs. 6,000/- each, neither losing or gaining in the deal. If he sold
one horse at a gain of 25 percentage, then what is the percentage of loss at which the other

horse 1s sold?

A) 30% (B) 162
©) 15% D) 40
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5.00 a.m. 708 TOARH TLRODBICRE TRIRTY [E 30 IVWAFY 2 ASVTEETY, TP
BROWTTI. NRdaiTsy) el & 10.20 a.m. § S3eedber QERE Te00d 05R)?

(A) 10.40 a.m. (B) 9.45 a.m.
(C) 10.00 a.m. (D) 10.10 a.m.

50 T [P TosyIS TOURO 25. S5 RO BeE W 23 T0TT SIS TTYRSeH?

A) 20 (B) 10
(C) 45 D) 15

T3 wetdrabd 40 FedoBD zuf% BPE  TOJS  FBOVIW.  BeF®  Too0wONE  Tosd000Y
F0T02BOWO :

A) 40 (B) 1760
(C) 80 (D) 1780

Q0@ ToSCE TS 3 5 OB, [E Foslobay 10 00m BeSAGES, wiyn® wsimesy
517 03, KoskHRo

A) 3,5 B 17,9
(C) 13,22 D) 15,25

%) &3y 60 &6{?@&2 QeI €D ﬁojfwagz TRIEIRPI 210 wadm& S3eRABR0TB.
12 THY TS0, €930 ad@z 70 zsﬁdmoz LBeBATTD. VPT FOT a@a OPNPY) SHIVBE?

A 38 (B) 35
(C) 36 D) 40

W) 8 SOR DEIRERY de. 6,000/ @t’ SROTT. TS Bk 5@@%@%‘%@@&% 95330
NPYDY. @3 2,00 BTHTaby Besee 25 o) ORITY  3POTT, YRR  HTHTDY
0008 VRIS TR Beste0e5000 e)?

1 2
A) 305 (B) 16g
©) 15% D) 40
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68.
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70.

A box is to be filled with apples each weighing % kg. The weight of the box after filling the

apples should not exceed ékg. What is the maximum number of apples that can be put

inside the box?
(A 6 B) 8
© 7 (D) 10

How many terms will have to be added to get a sum of 10877 in the arithmetic series?
5,9, 13,...

A M (B) 63
(C) 73 D) 74

A cylindrical bucket of diameter 42 cm and height 10 cm was full of sand. When the sand in
the bucket was poured on the ground, the sand got converted into a shape of a cone. If the
height of the cone was 21 ¢cm, what was the base area of the cone?

(A) 1980 cm? (B) 2015 cm?
(C) 1780 cm? (D) 2036 cm?
What is the value of (1—1j (1—1j (1—l)...(1_ij?
2 3 4 20

20 1
A — B -
@A) 91 (B) 50

21 1
c — D) —
© 50 (D) T

What is the value of x,if 9* +3*-90=07
A 3 B) 6
© 4 D) 2

The difference between the compound interest and simple interest on a certain sum of money
at 10 percent per annum for 2 years is Rs. 25/-. Find the sum.

(A) 1,500 B) 2,500
(©) 2,010 M) 1,910

If 60-10 means 600, 12+ 4 means 16, 6 x 3 means 3, 10 + 2 means 5, then what is
100-10x1000+1000+100x10?

A) 10 B) 0
(€ -10 (D) 20
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=8 % 3.3 SRFE BeennPorms BEIrSabsy Br0dTeln) BeenniwRy BH0WE TOBC wWRFIT BREE)

% 3.2, Q0eCeROR. BT TRBVTTOES [0 Fosdoh Beenred Y2
A 6 ®) 8
© 7 D) 10

©080rdSE Fosyabe) 10877 Begms) HBaben HE) FosRes), Je0TeE?

5,9, 13,...
A m (B) 63
©) 173 (D) 74

42 RBo.doe. sy e 03 10 Lo.Loe. DTOIMES e9Rc AQ0WORTROE 2088F° s0TPV0T B002),
BEPTYTE  eNTFRY Vo e BOTN, T et ©T0E TOSTESIRAWB.  Feerts
0goey) 21 Ko.Lve. BNTIB, BT SR TLHBE QA dF)?

(A) 1980 cm? B) 2015 cm?
(C) 1780 cm?2 (D) 2036 cm?2
(1_lj (1_lj (1_lj...(1_i) S
2 3 4 20
20 1
A4) o1 B) 20
21 1
© 50 D) 19

9° +3° 90 =0 &md, 1 © =Py dW?

@ 3 B) 6

€ 4 D) 2
2 SWOESES [E Ty 10 TIBSER, BT RASS 0eS wWER DI I0¢ 2B SRS
BB O, 25/-. BRSHE, BB :

(A) 1,500 (B) 2,500

(C) 2,010 (D) 1,910
60-10 @03 600, 12+4 @03 16, 6 X 3 @033 3, 10 + 2 203 5, &S
100 -10x1000 +1000 +100x10 &&=

A) 10 B) 0
(€ -10 (D) 20
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75.

76.

What part of speech is the word “quickly”?
(A) Adjective (B) Noun
(C) Adverb (D) Verb

Choose the incorrect spellings :
I Necessary
II.  Neccessary
III. Neccesary
(A) TandII (B) IIandIII
(C) Tonly (D) None of the above

Identify the sentence with the incorrect preposition usage :
(A) He is allergic to cats.
(B) She is fond of playing the piano.
(C) The teacher insisted in completing the assignment.

(D) They are excited about the upcoming trip.

Which of the following statements are grammatically correct?
I She went to the store yesterday.
II. He walk two miles this morning.
III. They have eated lunch already.
IV. We going to the park tomorrow.
(A) TandlII (B) II and III
(C) IIandIV (D) None of the above

Identify the sentence with correct subject-verb agreement :
(A) Each of the students have their own laptop.
(B) Each of the students has their own laptop.
(C) Each of the students have his own laptop.
(D) Each of the student has his own laptops.

Identify the sentence with correct use of the passive voice :
(A) The cake was baking in the oven.
(B) The chef is baking the cake in the oven.
(C) The baker has baked the cake in the oven.
(D) The cake will bake in the oven.
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Select the sentence with proper use of capitalisation :
(A) 1am going to the mall. (B) I am going to the mall.
(C) IAm going to the mall. (D) 1AM going to the mall.

Identify the correct antonym of the word “Comfortable” formed with the suffix :
(A) Uncomfortable (B) Discomfort
(C) Comfortless (D) Comfortify

Choose the sentence with the correct usage of the phrasal verb “give in” :
(A) He gave into his friend’s request. (B) He gave in his friend’s request.

(C) He gave in the request of his friend. (D) He gave up his friend’s request.

Identify the sentence with the correct usage of a gerund :
(A) She enjoys to swim in the ocean. (B) She enjoys swimming in the ocean.

(C) She enjoys swim in the ocean. (D) She enjoys swam in the ocean.

What is the term for “the excessive use of words”?
(A) Verbosity (B) Eloquence

(C) Conciseness (D) Laconism

Choose the correct option for the reported speech :
Direct speech : “I won’t be able to attend the meeting,” she said.
(A) She said that she couldn’t attend the meeting.
(B) She said that she won’t attend the meeting.
(C) She said she can’t attend the meeting.
(D) She said she wouldn’t be able to attend the meeting.

Identify the sentence with the correct usage of masculine and feminine gender :
(A) The tigress is known for his stripes.
(B) The vixen is known for his cunning tricks.
(C) The stallion is recognized for his strength.
(D) The lion is known for her hunting skills.

Select the sentence with the correct usage of words :
(A) The knight road his horse into the sunset.
(B) The night rode his horse into the sunset.
(C) The knight rode his horse into the sun set.
(D) The night road his horse into the sun set.
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87.
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89.

90.

Which sentence uses correct comparative degree?
(A) She runs more faster than him.
(B) She runs fast than him.
(C) She runs faster than him.

(D) She runs fastly than him.

What does the idiom “to spill the beans” mean?
(A) To clean up a mess.
(B) To reveal a secret.
(C) To scatter seeds in a garden.

(D) To drink too much coffee.

Choose the correct sentence with proper use of the verb :
(A) The child fallen asleep during the movie.
(B) The child fell asleep during the movie.
(C) The child falling asleep during the movie.
(D) The child falled asleep during the movie.

Rebecca rarely eats sweets, ——?
(A) does she (B) 1isn’t she
(C) don’t she (D) does not she

What term describes the deliberate and systematic extermination of a national, racial,

political, or cultural group?
(A) Xenophobia (B) Genocide
(C) Misogyny (D) Ethnicity

Choose a suitable synonym from the following options for the word given :

Meticulous
(A) Careful (B) Messy
(C) Careless (D) Both (A) and (B)
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